
SAP ABAP table AAFVV {Change Document Structure; Generated by RSSCD000}

AAFVV

MANDT [CLNT (3)]

APLZL [NUMC (8)]

MEINH [UNIT (3)]

ZEIER [UNIT (3)]

VGE01 [UNIT (3)]

VGE02 [UNIT (3)]

VGE03 [UNIT (3)]

VGE04 [UNIT (3)]

VGE05 [UNIT (3)]

VGE06 [UNIT (3)]

ZEIMU [UNIT (3)]

ZEIMB [UNIT (3)]

ZEILM [UNIT (3)]

ZEILP [UNIT (3)]

ZEIWN [UNIT (3)]

ZEIWM [UNIT (3)]

ZEITN [UNIT (3)]

ZEITM [UNIT (3)]

DAUNE [UNIT (3)]

DAUME [UNIT (3)]

ARBEH [UNIT (3)]

EWDNE [UNIT (3)]

EWDME [UNIT (3)]

BZOFFB [CHAR (2)]

EHOFFB [UNIT (3)]

BZOFFE [CHAR (2)]

EHOFFE [UNIT (3)]

PDAE [UNIT (3)]

KNOTE [CHAR (10)]

VSTZW [CHAR (4)]

VSTGA [CHAR (4)]

AFVC

MANDT [CLNT (3)]

AUFPL [NUMC (10)]

APLZL [NUMC (8)]

 AAFVV-APLZL = AFVC-APLZL 
0..N

0..N

T000

MANDT [CLNT (3)]

 AAFVV-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 AAFVV-ARBEH = T006-MSEHI 

0..N

0..N

 AAFVV-DAUME = T006-MSEHI 

0..N

0..N

 AAFVV-DAUNE = T006-MSEHI 

0..N

0..N

 AAFVV-EHOFFB = T006-MSEHI 

0..N

0..N

 AAFVV-EHOFFE = T006-MSEHI 

0..N

0..N
 AAFVV-EWDME = T006-MSEHI 

0..N

0..N
 AAFVV-EWDNE = T006-MSEHI 

0..N

0..N  AAFVV-MEINH = T006-MSEHI 

0..N

0..N  AAFVV-PDAE = T006-MSEHI 

0..N

0..N  AAFVV-VGE01 = T006-MSEHI 

0..N

0..N  AAFVV-VGE02 = T006-MSEHI 

0..N0..N
 AAFVV-VGE03 = T006-MSEHI 

0..N

0..N  AAFVV-VGE04 = T006-MSEHI 0..N

0..N  AAFVV-VGE05 = T006-MSEHI 
0..N

0..N
 AAFVV-VGE06 = T006-MSEHI 

0..N

0..N

 AAFVV-ZEIER = T006-MSEHI 

0..N

0..N

 AAFVV-ZEILM = T006-MSEHI 

0..N

0..N

 AAFVV-ZEILP = T006-MSEHI 

0..N

0..N

 AAFVV-ZEIMB = T006-MSEHI 

0..N

0..N

 AAFVV-ZEIMU = T006-MSEHI 

0..N

0..N

 AAFVV-ZEITM = T006-MSEHI 

0..N

0..N

 AAFVV-ZEITN = T006-MSEHI 

0..N

0..N

 AAFVV-ZEIWM = T006-MSEHI 

0..N

0..N

 AAFVV-ZEIWN = T006-MSEHI 

0..N

0..N

TCA54

BZOFF [CHAR (2)]

 AAFVV-BZOFFB = TCA54-BZOFF 

0..N

0..N

 AAFVV-BZOFFE = TCA54-BZOFF 
0..N

0..N

TVKN

MANDT [CLNT (3)]

KNOTE [CHAR (10)]

 AAFVV-KNOTE = TVKN-KNOTE 

0..N

0..N

TVTG

MANDT [CLNT (3)]

VSTGA [CHAR (4)]

 AAFVV-VSTGA = TVTG-VSTGA 

0..N

0..N

TVTZ

MANDT [CLNT (3)]

VSTZW [CHAR (4)]

 AAFVV-VSTZW = TVTZ-VSTZW 

0..N

0..N


